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Write your solutions in steps.
1. {3 points) Find the centre of mass of the triangle with vefﬁices at (=1, 0), (1,0),(0,1).
2. (4 pomts) Solve the dlfferentlal equation: '
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With initial value z = 1 Y= 1

5™

- 3. (3 pomts) Determme whether the sequence {

i ’. T}\e, fbﬁ_mgfe, is f{l@ 9. (g/: ;zx&g] }
iﬂeglb% ll?ma-m)((z@( bg/ _ | . 0((; Cox (/fx’

JLCPO = "‘I %I Mﬁﬂ X~ x 15 , 7 | J\_%Ldﬁ - J,)JLXLC{:XC

l\ ](\(X)C‘X prea. o-(? %fna;ag = ' iwlgtlr: %X’g%c ,
Bal §jmme.{?ﬁ(‘_ [erhcqo/@, MQ - ' | IU | = egxikc
: ‘ 2z
Couctre of pous lies on if-axis x=l, y=l050 1= '
sag 15 00) T ot bl

r do | |
| TS ' ] ;
f | F&)dx 3 /rh/\ jw |

“é: v - 2 o ‘ V2. = e A) J‘
~ =2 Pf‘) dx ” L,

L@C fite *f'"(x) - _ - |
s an toea =M () A N
«-("wn(, 15 © 'y Ci. M=t o
| L = (2fXo
= | =0,

5o Cntpe O;&’ miss TS (o, “}g“ > | So Conyery.e s



